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Question 9
Comect

Mork 200 0ut
o200

¥ Flag
question

(2 marks/1.5minutes each):Consider 3 CPU infensive processes, which req
10,20 and 30 fime units and arrive ot fime 0,2 and 6 respectively. How many
context switches are needed , if the operating system implements a shortest

g fime first scheduling algorithm? Do not count the context switches at
fime zero and ot the end

remai

Wite one line of explanation.

e 5

f. None of the mentioned

Your answer is correct.

The correct answer is: 2
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Guestion 10
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Mork 200 0ut
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¥ fog
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Question 11
Incorrect

Mork0.00 out
of 150

¥ Fog
question

Around robin scheduling algorithm can be non-preemptive:

Select one:

True

False v

The correct answer s Faise'.

(1.5 marks/1.5minutes each):Given a stream of jobs [processes) that arrive ot the
some time, Preempive and NonPreemptive priority scheduiing Must always result
in the same average Tum Around [TA) Time for the stream.

Select one:
True %

False.

The correct answer s Faise'.
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Question 12
Comect
Mork 1.50 out
of 150

¥ Fog
question

Question 13
Comect
Mork 1.50 out
of 150

¥ Fog
question

(1.5 marks/1.5minutes each):Given a stream of jobs [processes) that arrive ot the
some time and have different priorities each, Preemptive and NonPreemptive.
priority scheduiing always resultin the same average Wit Time for the stream.

Select one:
True v

False.

The correct answer s True'.

(1.5 marks/1.5minutes each):RR scheduler always results in better performance
than a FIFO schediuler.

Select one:

True

False v

The correct answer s Faise'.
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Question 1
Comect

Mork 200 0ut
o200

¥ Fog
auesion

Question 2
Incorrect

Mork0.00 out
o200

¥ Flag
question

(2 marks/1.5minutes each):RR scheduler with very lorge fime-siice acts like o FIFO
scheduler.

Wite one line of explanation.
Select one:
True v

False.

The correct answer s True'.

(2 marks/1.5minutes each): A job always makes ot least some progress when
scheduled by the short term dispatcher.

Wite one line of explanation.

Select one:
True %

False.

The correct answer s Faise'.




image10.png
Question 3
Comect

Mok 20000t
or200

¥ Fog
auesion

(2 marks/1.5minutes each):n @ preemptive priority scheduling algorithm, the
running process/thread always has the highest priority among ol ready
processes/threads

Select one:
a. False

b. True

Your answer is correct.

The correct answer is: True
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(10 marks 7minutes):Consiger the following rssource allocation graph (Figurs 1]

pl

3

Select one ormore:
. Figure 15 NOT deadiocked and a possible fiish orderis P4F2P1.P3

b. Fgure 15§ NOT deadiocked and a possible finsh order s P4 F2F3.P1

©. Figure 1 s cumently Geadlocked.

4. Assume now that P2 also demands [requests] resource R1. The new allocation graph hasa ceadlosk.

. Assume now that P4 also demands [requests] resource R2. The new allocation graph contains a Geadlock.

Your answeris parfally comect.
You have comectly selected |

The comect answers are: Figure 1 is NOT deadlocked and a possible finish orderis P4 P2.P1.P3, Figure 1 i NOT deadiocked
and a possible finish order s P4 F2,P3.P1, Assume now that P4 also demands (requests resource R2. The new alocafion
‘graph contains @ deadock.
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(20 Points/15 Minutes): Given the following table of jobs an resources: Available =
(2.1,2.2), Total request=Max Needed.

C (Current
allocation
matrix)

R (Tot

Request m

C
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Is this system curently deadlocked, or can any process become

deadlocked? Why or why not? If not deadlocked, give an execution order.
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Is this system currently deadiocked, or can any process become
Geadlocked? Why or why not? If not deadiocked, give an execution order.

Select one or more:
. Deadlocked and no finish order exists. x

b. Ifinstead a request from process P2 arrives for resources (0, 1, 2, 0], then
this request
can NOT be immediately granted.

c. Ifinstead a request from process P2 arrives for resources (0, 1,2.0).. X
then this request
can be immediately granted.

d. Not deadiocked and the order is PO-> P4-> P1->P3-> P2

e. Ifinstead a request from process P3 arrives for resources (2.0,0,0).. ¥
then this request
can be immediately granted.

f. I instead arequest from a process P3 arrives for (2. 0, 0, 0), then this
request
can NOT be immediately granfed?

9. Not deadlocked and the order is PO-> P3-> PA->P1-> P2

Your answeris partially comect.

You have correctly selected 1
The comect answers are: Not deadlocked and the order is PO-> P3-> P4->P1-> P2, If
instead a request from process P2 artives for resources (0, 1. 2, 0J.. then this request
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Your answeris partially comect.

You have correctly selected 1.
The comect answers are: Not deadlocked and the order is PO-> P3-> P4->P1-> P2, If
instead a request from process P2 arrives for resources (0, 1, 2, 0).. then this request
can NOT be immediately granted. , Ifinstead a request from process P3 arrves for
resources (2.0, 0, 0).. then this request

can be immediately granted.
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With kernel-level threads, multiple threads from the same process can be scheduled

‘

Wite one line of explanation.

Select one:
True v

False.

The correct answer s True'.

»
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1e threads from the same process can be scheduled on multiple cores simultaneously.
‘

Wit one line of explanation.

Select one:
True v

False.
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Question 1
Comect
Mork 1.50 out
of 150

¥ Flog
question

(2 marks/1.5minutes each):An operating system s a program that acts s an
intermediary befween the user of a computer and the computer hardware.

Wite one line of explanation.

Select one:
True v

False.

The correct answer s True'.
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Question 2
comect

Mork 2500 out
of2500

¥ Fag
question

(25 marks/20minutes):

1. Assume fhat the following processes are the only processes in @ computer
system and that there are no input/outiput requests from all fhe given processes.
Given the following arrival fime and CPU burst fime for each process, draw the
Gantt chart and compute the average turaround fime and the average wait
fime os defined in the textbook for the following CPU scheduiing algorithms:

Process# AmivalTime CPUBurst

Pl 0 5
P2 1 5
P3 5 3
P4 13 2
0123456789101 12131415

COC1C2C3C4C5C6C7CBCICIOCTICI2CIICIACTS

(The above are fime -first row- and process running at that time slot-second row-)
Example: If the Ganft Charti

0123456789101112131415

PIPIP2P3P4P1P2P3PIP1 P2 P2 P2 P3 P4

Then for this case

The answeris: 1,1,2,3,41,23,1,1,22,28,4 (lsts the elements of Gantf chart in
order).

Average Wait Time: FCFS (format: xy: eg: 2.9)
(approximate)
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Round-Robin with fime quantum of 1, ignoring the
context switch cost. Assume that the confext switch
overhead is 0 and new processes are added fo fhe
head of the queue except for FIFO:
0123456789101 12131415«

COC1C2C3C4C5C6C7C8CICIOCTICI2CIZCIACTS

€0-C20 equals:
Average Wait Time: Round-Robin(approximate)

v
For FCFS:
0123456789101 12131415
COC1C2C3C4C5C6C7CBCICIOCTICI2CIICIACIS
€0-C20 equals:

v

For Shortest Job First:
0123456789101 12131415
COC1C2C3C4C5C6C7CBCICIOCTICI2CIICIACIS o
€0-C20 equals:
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For FCFS:

0123456789101 12131415
COC1C2C3C4C5C6C7CBCICIOCTICI2CIICIACIS

coc0equal: [ deleeees

For Shortest Job First
0123456789101 12131415

COC1C2C3C4C5C6C7CBCICIOCTICI2CIICIACIS o
€0-C20 equals:

Average Wait Time: SJF(format: xy: eg: 2.9) 275
(approximate)
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Question 3
Comect
Mork 1.50 out
of 150

¥ Flag
question

Question 4
Comect
Mork 1.50 out
of 150

¥ Fog
question

(2 marks/1.5minutes each):Rate monotonic analysis assigns the highest priority o
fhe process that has the most computation remai

Wite one line of explanation.

Select one:

True

False v

The correct answer s Faise'.

(2 marks/1.5minutes each):Given a siream of jobs (processes) that arfive ot the
some time, SRTF and SJF schediuling aiways resultin the same average fumaround
(TA) time for the stream.

Wite one line of explanation.

Select one:
True v

False.

The correct answer s True'.
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Question § (10 marks/8minutes):4 Processes (P1,P2,P3) arived at fime 0. The Durafion of the

Comect processes are (2.4,6,8). Each process has a 40% wait fime.
“’:7;;5““ ot Which process finishes first and at which time.

¥ Fag

auestion 40% 1/O Wait Time

Processes CPU Utiization
0 0

1 06

2 070

3 0.80

4 050
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Select one:
a. Plattime around 8.88

b. P3atfime around 7.88
c. Plattime around 6.44
d. P2atfime around 8.88
. None of the mentioned
f. P3atfime around 8.88

9. P2atfime around 6.44

Your answer is correct.

The comect answers are: P1 at fime around 8.88, None of the mentioned
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Question 1
Comect

Mork 400 out
of 400

¥ Flog
question

Question 2
Comect
Mork 1.50 out
of 150

¥ Flog
question

(4 marks/2minutes):A short quantum allows a schediuler fo cycle through more
processes more quickly than with a long quantum. What i
thi

the main downside of

Select one:
a. Thread priorifies can be better handled.

b. The thread may not finish in one quantum
c. The thread may never finish.

d. Increased overhead due to context switching. v

Your answer is correct.

The correct answer is: Increased overhead due to context switching.

(1.5 marks/1.5minutes each); In the following cases non - preempive scheduiing
occurs?

Select one:
a. When a process goes from the running state fo the waiting state: v
b. Allof the mentioned
. When a process switches from the running state to fhe ready state

d. When a process switches from the running state to fhe read state
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Question 3
Comect
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o200

¥ Fog
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Question 4
Conect
Mok 20000t
or200

¥ Fog
auesion

(2 marks/1.5minutes each):Races happen in processes when the final result is
independent of the execufion order.

Wite one line of explanation.

Select one:

True

False v

The correct answer s Faise'.

(2 marks/1.5minutes each):Rendezvous is a form of messaging that uses indirect
addressing.

Wite one line of explanation.

Select one:

a. Tue

b. Folse v

Your answer is correct.

The correct answer is: False.
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Question §
Incorrect

Mork0.00 out
o200

¥ Flog
question

(2 marks/1.5minutes each)-The Ganit Chart P1P2 P3 P1P2P3 result from fixed
priority scheduling but not from SJF schediuling.

Wite one line of explanation.

Select one:
True %

False.

The correct answer s Faise'.
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Question &
comect

Mork 10.00 out
of 1000

¥ Flog
question

(10 marks/7minutes):Given the following fragment to deal with Crifical Section
problem (Pi has a similar construct):

Process Pj:
dof
flag[]] = TRUE:

fum

i
while (flag] && fum =

<ciitical section>
flagll] = FALSE:
<remainder section>

}while (TRUE);

Select one:

isis @ wrong solufion as both Pi and Pj can enter their crifical sections. ¥

b. Thisis a comect solution as Piand Pj can enterits crifical section in fum
(one then the other and'so on).

c. Thisis a comect solufion as only one of Piand Pj can enterits crifical
section ot a fime.

d. Thisis o wrong solution as nefiher Pinor Pjcan enter their crifical sections.
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Question 7
Incorrect
Mork0.00 out
of 150

¥ Fog
question

Question 8
Comect

Mork 400 out
of 400

¥ Fog
question

(1.5 marks/1.5minutes each); Shared Memory is  form of messaging that uses
indirect addressing.

Select one:
a. Tue

b. False

The correct answer is: False.

(4 marks/2minutes)Select events that may take a process fo aready stafe.
Select one or more:

a. /0 request

b. 1/0 Complete

<. Process Preempted for Time Quantum expiration

d. Process Termination

e. Process Startup

<




